ESeC Validation Conference: Discussion Group 3

Implementing ESeC: Operational Issues (2)
1.
Rules for allocating ESeC Classes to those not currently in employment

We wish ESeC to be as inclusive in population terms as possible.  For this purpose we need a method for allocating class position to the unemployed and inactive groups and on the retired, the sick, the disabled, those looking after a home, as well as family workers and full-time students.

The proposal is that family workers and full-time students take the class position of the household reference person.

All other groups should be classified by reference to their last main job.

Initially also these groups are allocated to SEG 0 (01 = short term unemployed, 02 = unpaid family workers, 03 = national service personnel, 04 = retired, 05 = fulltime students, 06 = children (under minimum school leaving age), 07 = permanently sick/disabled, 08 = looking after home, 09 = inadequately described occupations and 00 = not classifiable for other reasons).

2.
Dominance rules and hierarchy

Both the Dutch and Irish teams have raised issues concerning dominance rules and hierarchy in ESeC.  This was a matter we raised in Paris Paper 3 but which the consortium decided to deal with later in the project.

In fact there are two separate but related issues here: (1) hierarchical relations in ESeC as raised by Anton Kunst and (2) dominance rules as a method for determining household class.

Strictly speaking, of course, ESeC is a nominal measure, the schema being designed to capture qualitative differences in employment relationships.  However, it is accepted that, in terms of overall economic status, Classes 1 and 2 are advantaged over classes 3, 6, 7, 8 and 9.  In that limited sense there is a hierarchy among employees.  The same might be said to apply to the self-employed and employers.  Employers in Class 1, self-employed Class 1 employers Class 2, self-employed 2, employers Class 4 self-employed Class 4 and farmers in Class 5 forms a hierarchy.

Kunst is suggesting we should go a little further than this – see his attached table of hierarchical relations in ESeC.  What are your views on this?

The issue of dominance rules is a separate but related issue.  Dominance rules are one possible method for determining household class values.  The other method is to use the class position of the ‘household reference person’ however this is determined – responsibility for accommodation, income, age, etc.  Dominance rules require that we have occupational information for each member of the household.

The dominance approach distinguishes two class concepts: (1) work position, i.e. individual’s class positions and (2) class position in market terms, a position that does not require someone to have an individual work position, i.e. class may be determined by the work position of another person e.g. a married woman working full-time in the home as a class position determined by her husband’s work position.

Where more than one person in a household has a work position, then dominance rules are required to determine whose work position determines household class.  Previously we produced a proposal for dominance rules based not on classes but on the SEGs which compose them.  Thus, what we proposed was a hierarchy of work positions which incorporated employer and self-employed positions as well as employee positions.  The hypothesised hierarchy assumes that in many cases employer and self-employed work positions have ‘higher’ positions than employee positions.  Essentially this implies that life-chances are better for employers and the self-employed than for most employees, at any rate in the UK case on which the dominance rules are based.

Ideally, dominance rules should be based on construct validation studies for each EU country, of course.  The rules themselves need to be validated.  We have now revised the original dominance rules and these should be discussed.

You will note that the new dominance rules give a hierarchy of work positions thus:
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This is only slightly different from the dominance rule used by the Irish which placed Class 3 ‘above’ classes 4 and 5.  Evidence from the UK indicates that classes 4 and 5 have superior life chances to classes 3, 6, 7, 8 and 9.

Questions to be addressed by the Group

1.
Are the rules for allocating active groups to classes workable and acceptable?

2.
How should we interpret hierarchical relations in ESeC?

3.
Do the dominance rules make sense?

If time allows, the group may also consider the issues relating to Group 2’s discussions.

